[image: image1.png]25. At time t = 0 a car has a velocity of 16 m/s. It slows down with an acceleration given by
—0.50¢, in m/s? for ¢ in seconds. At the end of 4.0 s it has traveled:

0

12m
14 m
20 m
59 m

ans: E

SISEeR I

26. At time ¢t = 0 a car has a velocity of 16 m/s. It slows down with an acceleration given by
—0.50t, in m/s? for ¢ in seconds. By the time it stops it has traveled:

15 m
3lm
62 m
835 m
100 m

ans: D

mo QW

27. Starting at time t = 0, an object moves along a straight line with velocity in m/s given by
v(t) = 98 — 2t2, where ¢t is in seconds. When it momentarily stops its acceleration is:

A O

B. —4.0 m/s?

C. —9.8 m/s?

D. —28 m/s?

E. 49 m/s?
ans: D

28. Starting at time ¢t = 0, an object moves along a straight line. Its coordinate in meters is given
by z(t) = 75t — 1.0t3, where ¢ is in seconds. When it momentarily stops its acceleration is:

0

—73 m/s?

~30 m/s?
—9.8 m/s?

9.2 x 10° m/s?

ans: C

mY QW

29. A car, initially at rest, travels 20 m in 4 s along a straight line with constant acceleration. The
acceleration of the car is:

0.4m/s>

1.3m/s*

2.5m/s’

4.9m/s?

9.8m/s*

ans: C

SESEoN- i
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40. A racing car traveling with constant acceleration increases its speed from 10m /s to 50m/s over
18 JE. s

31

32.

33.

34.

a distance of 60 m. How long does this take?

A 205

B. 4.0=x

C. 5.0s

D. 8.0s

E. The time cannot be calculated since the speed is not constant

ans: B

A car starts from rest and goes down a slope with a constant acceleration of 5 m/s%. After
5 s the car reaches the bottom of the hill. Its speed at the bottom of the hill, in meters per

second, is:

1
12.5
25
50
160

ans: C

SESEReRS

A car moving with an initial velocity of 25 m/s north has a constant acceleration of 3 m/s?
south. After 6 seconds its velocity will be:

7 m/s north

7 m/s south

43 m/s north

20 m/s north

20 m/s south

ans: A

HO0w >

An object with an initial velocity of 12 m/s west experiences a constant acceleration of 4 m/s?
west for 3 seconds. During this time the object travels a distance of:

12m
24 m
36 m
54 m
144 m

ans: D

BUOw>

How far does a car travel in 6 s if its initial velocity is 2 m/s and its acceleration is 2 m/s? in
the forward direction?

12 m

14 m

24 m

36 m

48 m

ans: E

mYQwE
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